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ENGLISH VERSION

Instructions :(1) Figures to the right side indicate marks.

(2) Show necessary calculations as a part of answer.

1 The following information has been extracted from the records20

of Rohit company :

Particulars Per Unit (`)

Raw materials...............................................................45.00

Direct labour.................................................................20.00

Overheads.....................................................................40.00

Total cost....................................................................105.00

Profit.............................................................................15.00

Selling Price...............................................................120.00

Additional Information :

(1) Raw materials are in stock on an average of two months.

(2) Work in progress average time lag is 4 weeks. (assume

50% completion stage in respect of conversion costs and

100% completion in respect of material)

(3) Finished goods stock on an average is for one month.

(4) Time lag in payment of wages and overheads is 1/2 week.

(5) Time lag receipt of proceeds from debtors is 2 months (on

sales).
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(6) Credit allowed by suppliers is one month.

(7) 20% of the output is sold against cash.

(8) The company expects to keep a cash balance of ` 1,00,000.

(9) Take 52 weeks per annum.

(10)The company is poised for a manufacture of 1,44,000 units

in the year.

You are required to prepare a statement showing the working

capital requirements of the company.

OR

1 Rahul Ltd. sells goods on a gross profit of 25%. Depreciation20

is considered as a part of cost of production. The following are

the annual figures given to you :

Particulars (`)

Sales (2 months credit).......................................................18,00,000

Materials consumed (1 month credit)..................................4,50,000

Wages paid (1 month time lag in payment)........................3,60,000

Cash manufacturing expenses

  (1 month time lag in payment).........................................4,80,000

Administrative expenses (1 month time lag in payment)...1,20,000

Sales promotion expenses (paid quarterly in advance)..........60,000

The company keeps one month's stock each of raw materials and

finished goods. It also keeps ` 1,00,000 in cash. You are required

to estimate the working capital requirements of the company on

cash cost basis, assuming 15% safety margin.
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2 Ayushi Ltd. provides the following information : 20

st(1) Cash and Bank balance is ` 3,70,000 on 1 April, 2023.

(2) Estimated cost of sales :

Month `

February......................8,00,000

March..........................9,60,000

April..........................12,80,000

May ...........................16,00,000

June...........................14,40,000

(3) The details of cost of sales of February month are as follows:

Materials............................` 3,20,000

Labour...............................` 2,40,000

Variable overheads...........` 2,40,000

(4) Fixed overhead expenses are ` 56,000 per month, which

includes ` 16,000 for depreciation. Fixed overhead is paid

in the same month.

(5) Cash sales are 20%. Of the credit sales, 50% in the first

month after sales, 40% in the second month after sales and

remaining sales are collected in the third month after sales.

(6) 2% Commission on total sales is to be paid in the next

month of sales.

(7) Purchases are made one month advance. Purchase return is

estimated as follows :

Month `

February.........................24,000

March.............................12,000

April...............................40,000

May ................................16,000

The payment of purchase is made 50% in the first month

after purchase and remaining in the second month after

purchase.
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(8) Time lag in the payment of wages is 1/4 month and variable

overheads is 1/2 month.

(9) Income tax ` 60,000 is payable in the month of April and

bonus of ` 56,000 is payable in the month of May.

(10)Rate of gross profit on sales is 20%.

From the above information of Ayushi Ltd. prepare a cash budget

for April to June, 2023.

OR

2 From the following information of SS Ltd. prepare a cash20

budget for the month from March, 2023 to May 2023 :

Month Cost of goodsClosing stock ofWages Total

sold (`) goods (`) (`)Overheads (`)

January 1,35,000 22,500 11,200 38,250

February 1,68,750 33,750 12,300 54,000

March 2,02,500 56,250 13,500 45,000

April 2,70,000 67,500 15,700 40,500

May 2,36,250 61,875 16,800 45,000

June 2,53,125 56,250 15,750 33,750

Additional Information :

(1) On 01-03-2023 Cash and Bank balance was ` 1,59,100.

(2) There was no stock of goods at the end of month of

December, 2022.

1
(3) Goods are sold at profit  on cost price.33%

3
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(4) Purchases are made for cash basis.

(5) Cash sales are 40% of total sales. 50% of credit sales are

collected in the month after sales and remaining 50% of

credit sales are collected in the second month after sales.

(6) The time lag in payment of wages is 1/4 month.

(7) Total overheads include monthly fixed overheads of ` 9,000

which is to paid in the same month. Variable overheads are

paid in the next month.

(8) An old machine is to be sold for ` 11,250 in April 2023,

while a new machine is to be purchased for ` 56,250, the

payment of which is to be made 60% against delivery and

the remaining amount in the next month.

(9) Income tax is to be paid for ` 11,250 in March, 2023.

3 Yash Ltd. wants to change in credit policy for the purpose of15

sales promotion. It provides the following information :

Particulars Existing Proposed

Credit policy 30 Days 45 Days

Bad debts 1% on total sales2% on total sales

Expense of collection department ` 13,500 ` 24,750

Present annual sales is ` 36,00,000. Due to liberal credit policy

sales will increase by 20%. Variable expense and sales ratio is

80%. The present fixed costs amount to ` 3,60,000. The expected

rate of return of the company is 15%. Tax rate is 30%. Evaluate

the project.

OR
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3 "2/10, net 30" days is the present credit term of 15

DR Company Ltd. Its present level of sales are ` 6,00,000, with

an average collection period of 30 days. The contribution margin

ratio is 15%. The proportion of sales on which currently customers

take discount is 1%. The Company's cost of capital is 10%. Now

the Company is considering to increase the discount term to "4/

10, net 30", which is expected to push up sales to ` 6,50,000 and

reduces the average collection period by 10 days. Such relaxation

increases the proportion of discount sales to 2%. The tax rate is

40%. Evaluate this new discount policy.

4 (a) Lyon Co. provides the following information for the year10

2022-23:

Item No. 1 2 3 4 5 6 7 8 9 10

Cost per

unit (̀) 200 300 50 30 20 18 15 10 4 2

Annual

Demand

(Units) 2,5001,2502,5002,5002,5002,5002,5002,5002,5003,750

Categorize the items according to ABC analysis.

(b) Worner Ltd. provides the following information for5

material XZ :

 Economic order quantity...................................8,000 Units

 Minimum Usage per week...................................200 Units

 Average Usage per week......................................250 Units

 Maximum Usage per week..................................300 Units

 Maximum delivery period for material...................40 Days

 Minimum delivery period for material...................30 Days

 Average delivery period for material......................35 Days

 Period for emergency purchases...............................5 Days
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Calculate:

(1) Ordering Level

(2) Minimum Level

(3) Maximum Level

(4) Danger Level.

OR

4 (a) The annual requirement of an item is 12,000 units, each10

costing ` 6. Every order costs ` 200 and inventory carrying

charges are 20% of the average inventory per annum.

Find out :

(1) Economic Order Quantity and corresponding total

inventory cost (including item costs)

(2) Whether the item should be purchased in lot of 6,000

units at a time if price per unit is reduced by 5% for

this quantity.

(b) The consumption of chemicals in a company is as under :5

Annual consumption 32,000 liters.

Ordering cost ` 400

Maintenance cost 4%

Price per liter ` 16

From the above given information find out E.O.Q. Calculate

how Order and Maintenance expense become equal.

___________
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